Y &' ¢ adl  mdada Auge
“‘J % - . S
A " Vxfea +1 T £x1
(—_—__- ox = 4 016 j Z'bofﬁ =2 Z tz*“’- 04‘: _
X =4 2|lx+1 olx o o )
3
2 2 Vxwd ' olt ki
5 = )+ ot
%) (-3 L4 2 ¢ — T Py
(4 -k) t-1 prpomd mods x=3o E=Var1 =2
2 g e=Yor T~
-(2t-) 3 O
2 .
et 1 32
s § ((4;+L+ Lot < 2 [Tree+ %’.A,“;_”] = o fl Teetrrhait-al]~
z
3
h :
- [ %H_uz. Mz—4l]f= Z-{[ Lo le—/]} = Qibhl.
—\
oo p o o o
p’lrz_ ] — O{X = f dx + 1 O‘X = /&W 0()( +
) kL x+1 xLexed xtex+d o= Xtexed
-0 } - 00 5 7' y
{ —_ ox : 1 -
+ ,C_: 0()( = /CCIW = '&-’”\; —_— odx
?__:b:o fxz‘+x+‘4 ?")\00 (X"'{)z"% 7‘?:0 (xq,ia)z'j.:}.l_
(o] o]
/XLFX*1=XL*Z'£X+4‘;‘%;+4 f
S(xleL)2 . 3
( z_) “‘4
(XFi)L = é {:l. ﬁ VJE(#F )
N !'L Ixl o o2 1 3
(x+3) i 1 L
) = Lo 3¢2 43 gde+["m §-t2+lz‘dé
l/z“(xu) B 4 - p yoe T
l= ol 4,
VE = 5 - e St 364 g
M X+1z= v:%?{._
x <> N
y [Fet
t-= \/-g' (x+1) . x=o0 = £= I/-l—:‘: &
X—>too = { = ‘/——(6“‘1)’=' a
(9 y—otoo)\\——\-‘
< ¢ ¢
& £ P _ 23], f’ ot
f 4 ez+4d6+ﬁ>m - B A e A—:“:m eeea 07
o O~
'6— o/
X A u}“
At \"'0"& = ‘e" =
7z e féc” ] g f4-> -0 L Wt] : ’&:’; [WJ“‘
;‘@{m I/§~£m\,[ [/—(+)]+¢w¢3/— Aw[cwégl/—‘gl*)]
3 ? y=>-o0 M? "z y o
- T
= Z_VE’{ (Z z
= 5= 1 6 V? = Yy L.k B _4s T 2
5 ) = | = = — . L I—
3 '"'éé a/%f] swwg,vg ki o/v(,%s 3L =_3_£



jW Y Waiﬂm’% 2wl il
oA L NS P S (S |5 7f oAx = hulxet|+% bwl2xet) +C
(x41) (21 x+1) Xk Lx+1
x | _ A B A2+ B( x+1) x(24+8) + (A+8)
(x #4X2x&1) x+A4 2x+1 (x+A)(Lx+1) O+ Lx +1)
1 = LA+D 7 1=-28+8
0= A+R=> A=-B I=-$8 — R= '24
A = ?4
1 x$ }4 . f fx2-+-4 2
sy N 1dx + = xa | Lats~1 L -
x3 Lxt XS K2 3 X“f)( ua fxbdx 4—\[)(—/{ i =
Xt bl
(34} Goartl = 4+ L frtoe o £
\(x%-xl o
ﬁ i
Xt w1 x2 41 A B ¢ Ax(x=1) + B(x-1) +Cx2  x*(Arc) + x(-4 B)+
—— = — g e i3 = =
x3-xy  x¥(x-1) X x=  x-1 x2 (x-1) X% (x=1)
+ (B 12AsC =2 C=l-A=1+1=2
2 b 0=~A+B => A=B = A= -1
==B = B=d
= Xx- bolxl+ L 4 28ulx-1] tc
i [ ax
14 x3
A
J XZ'JZX O{X
0




APLIKACE |NT- POCTTU

0-) 0aaks Jﬂ-vau.&_:_
)T T

~ uﬁaowyﬁmm,f.{?%wwm
(4

y= XT3 2% a ovw X,

§= xtylx =0
X(x¢42) =0 => X=0 v x=-2-

7 -
Nax: |4 =D _-,_Two

o
[ 2 ) xS ixz_ s _.j: i i_
gO—(x’-:—Lx3d"= "§(X7'+?,X)o(z =—[,_{* 7]7’ +(3 .,_q) *

u

—-Z

- =T R i6= (:L—)—&_\.QL)LJ
{3 ( e
ﬁi— S— h — : y-xl -9 75 Sx-6G .
Y ; XL;.-.‘:TX-‘
i yl-Gx +6 =0
A
;
\ X=2{ X =3
1 & 3
-1 i ki * E ot x3 93 :
1 L L) {(S‘x—(—x'—)o(x= [ ?“G)‘- }‘] = 5:__1-18_7__
z 2
il :
- -n- & 0w E. ..
( 10-12 ?)= v d -2 = :LL
p_i: 0dmool le | moue  aadl bk b.
A
\E—'» [_0‘6—] AL‘:,- ,L:-—é:..
/ l W
z—% Py -bxeq
s
- O= -=.A+
. /(A/, [a0] Lq(o]e/v > o Y
’ = x A =g
= Lx+
’V ? ? /v: a:—- _‘_'_" 4,‘—-
- z ad = N
[ bl - - - - = %
S\(-gxi—(—)olx=[—§%,r‘e«k]o= /5.6'( 2 ’("“ 2. ‘2.1
0 46
: = (X mo xe€<o0;4> L3
B ! (=
o £E%1
<) y.—.-x’-;—u o Do X 5
oA y=xt-2xt3 o = ~2x2yplx+3 L4]
817'4.., nrotlin & "L Ala
¢ . Fox) ¢

~

“) i £ V=7 f!;‘mo{x ;2}7(}-"“ /-7 / Fup
{7/ I
i e

P

/ / Py
|

ik 3.5

Abon
A,OhM/eoZ“V%X Notpu abg




0}: ’lrm,, .43‘ Aok )

R

rd

= '.Z:)‘Zyyb fx o f_:s w . 2 nd
/NW] be gt V=7E/(r",x’-)dx = I [/L he = ]-v ic [pn -
¢ ¢
vl J—‘ e
- 9] r * ; ol » 3.8 GEnS
\\/ e g ) w2t T S
—_—

/717 vw\) - p‘?zw WM'AG— M&. =

\A‘# a---/abmm,w

\ G .. %""}4«/ v 5 "

& Lz [oaly=—) 92, 7;[ at (g%

'1:: V lb/ [ _?___ ] 0{ b" a% -
o o=y ‘)X

e “ E(g.) f(a‘ -Mr")pg,- a,( ) [7— %’1‘43]
<l= grery b =/L(0 ba %‘2 /@yﬁj

oo W Bl

/{— w:?‘ ¢ : 8
)

ys -—fx_i.ld__ =) X = (L__ﬂ:_ - 3 Vig = EG.L#

.
~Z [(./é}/ 3 3

Y

A~y i I Sortie,
\\ [0,%] e | rys /,304_ —
“e Ay g, =20y
» [0 € : = - w B
A’%/ . q = M d € | ( | 9-
}ﬂ =2
A z (] +
Wl * ok Sk ¢
poi
— R
/~.: ?-_-_ xea x ‘_/vb
W v
- r -4, )
V<7Ef(/"1:_{'1_x +/":,)L"-'< - 7[[(("'_4__":1—).)(1 " Ay (Bg =2y - "'”f:')o(x‘-:
ar T r
; : AR s,

‘l’-
Aa=2y \T x3 ’ ‘U"‘L(M"/"") . ALKI = N —_— 3 i oobé 2 BT
- TC [(_—’; ) 2 e - 2 a // ?A
;=
— : 3 P g
- A ) F A 1= o [(# "'b"ll“?-*&z,z? 172

%
= (2t # Aareg + 2y )

+ Ata = TCM[("'F’":.)Z*- 2y (24
-%ﬁ-/] = ILV [)l— - -?fu,lb,,f/b:' *’3/2'41;,_’] A

L T
9"2&4‘\/ : 0“) Jwlotame be\'/\va\‘o(, ( atr %; -4)
G)  rctaiw  fonosule ok ( g=10x)

» \PJ

|




A('\L-M.)L
- w1+ "

1

| &

0

= Q.M.l 4 )
e

+8( p-a) (A+an

) + 3(44—2,“4-4&

A= A+tB+C+D

0= 25 +43-2C~
0=AB+CD
= -B+)D ->

R PR T

(4—4&)1(44-0»)7'

o
D

B =D

' A=E>| B=D
A

=

=2

-
4
¥

< C=%L» D=L,
Lf

) Pdlw ﬂau?
f(’() £
3o i L = /IM-* (('m)" olx
! '
| : b
l o £
ﬂl«h ’y?/\- Af B othondine X«:w’g, &= xt—-2x +3 P Oex&eq.
foor=7% -2x+3 — Jﬁ(.w).-a Zx -2
/—— L’ = /‘f}ka =) Mx‘gt = &,
L ‘v/ ol e ﬁ::-’ e = RV (RGO =
wte
2x-2 =%t 5 oy
o 2% =& = wvééc )
i 'édt LH: o
I:D_—.-L
="
1o
211/ 1 de =
'=z 4+ %ZA_ * mz_é d{ mz,,_ w‘)_,?'
= mntr t=2)
wv‘;;(-z) [9L= v “"’{a z &
o
; A —or = i— . P
4 y
_;_{_ a w;l.&*/k'm—‘ " "L‘—O(L = '12‘ { msk cod £
, * -2)
Nt wnt A M( Ly
~ a“i
g - wrieanta =A@ TG0 = 0T
5]
1 won o mo= A La‘&' p A .
L t gl = o A = i Lt N
& ( A= newta)® e U- a*)
) il (wuv‘é(‘l.))
04/«\5(—?— -y '
y _—
< § =
[t [ (o e o]
(1 s et Q\\—M)
bt = (-t (A2 a)
ol b At gt 1=ttt
"(/\ A,V'('i'\',u.\

Y +C ( q—A)L + D(AHA)(A«M)‘ _

N=A+2B+C
0= 2A-2C =2 A=C
O=A-2B+C
1=12A +2B => 1-286=
0=12A-28= A=8B

4=L\’E>¢) B'_._L
4

—_—

gt ut) £ D(1-dut b +

20



o)

:}1 .;’t_'f"__
2 (1 er
m‘w(ﬂv\/«é t=2.))

[TRs)

gl

/

iTpde - piolesy 3 L b bt |
q[f,w_ Jons (ot ) ph
L i, & fllgmy = ke ¥ z‘““(MH)l
Ll—['l—,w \—-—"\/—4_—;«"_4 T+
b, (H0IM)
]O
A )
y _L_’,__ = & A,\(M'F’l i
oy = 4o el o L
tn(1-n)" I
of 7 i g a4 A = Rl «
€ i 1+



